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adverb?

A. The time nears.

B. He is near relation.

C. Draw near and listen.

D. The school is near the post office.

"He is found of playing cricket."

Here 'playing'is a/an __

A. Noun clause B. Gerund

C. Verb phrase D. Irregular verb

Jaws of death is an example of ___ .

A. Metaphor B. Simile

C. Personification D. Symbol

The antonym of ‘Elegant’ is

A. Eulogy B. Pendent

C. Awkward D. Egotistical

Mother said to me, "Do not tell a lie."

Change into indirect narration.

A. Mother frightened me not to tell a lie.

B. Mother suggested me to not tell a lie.

C. Mother advised me not to tell a lie.

D. Mother warned me to not to tell a lie.

The person who has committed such an crime should
be severally punished.

A. Uncharitable B. Abominable

C. Unkind D. Unworthy

The meaning of the idiom " a dime a dozen " means —
A. Something common B. Something very rare
C. Something we need D. Something very costly
Left __ himself he would be able to complete the work in
Iess than a month.

A. with B.on C.by D.to
One who draw maps is called a

A. compositor B. cartographer

C. apothecary D. curator.

I tried to look happy _ felling miserable.
A. in spite of B. although
C. however D. None of the above.

Which of the following is incorrectly spelled?

A. Fasicst B. Pontoon

C. Staggered D. Occurrence

Choose the pair that express a relationship similar to that in
the original pair; attractive :: attraction

A. Typical :: Typo B. Wide :: Width

C. Long :: Length D. None of the above.
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01. Which of the following sentence is having the word ‘near’ as

rtant drinking water is in our life V.
know we cannot survive without it. In fact two-thirds of ¢yr
body is made up of water. Not for pqth_mg is it said that the other
name of water is life. Is there a crisis in our time with regard 1o
vater? The United Nations 1n a meeting

access to clcan drinking v ' The Unit in a
on the eve of the new millennium identified the drinking water
problem as onc of the challenges for the future. But do we need

to worry about the problem as ours Is a lapd of rivers and we
have plenty of rainfall? Besides, we have a sea in our backyard too,

One of the sources of water in our country are the nvers. Rivers
are everywhere in our life, literature. economy and culture, But are
the rivers in good shape? Unfom_.matcly. they are not. A few are
already dead and several are going through the pangs of death.
The river Buriganga is an example of a dying river. A report
published in the Daily Sun describes what has happened to the
river Buriganga and why. Its water 1S polluieq and a perpemual
stench fills the air around it. But that is not what it was like before.

We know how much impo

Answer the following Questions :

Describe the importance of water in our life.

A.
B. What is the present situation of the rivers in our country?
C. "We should prevent water pollution and save the dying rivers ". Do
you support this idea? Why /Why not? Describe it in 2/3 sentences.
D. "But do we need to worry about the problem as ours is a land of
rivers and we have plenty of rainfall?", What does the writer
want to mean? Explain in 2/3 sentences.
14. Write a paragraph on this Subject:
“Importance of maintaining a good health and discipline in our life.”
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A. Water is very important in our day to day life. It is well!
known to all that we cannot survive without it. In fact two-|
thirds of our body is made of water. So the other name oq
water is life. :
The rivers, one of the main sources of water, are not \\'ell!
shaped. It is unfortunate that a few of them are already|
dead and a good number of rivers are going through the
pangs of death.

I comp_letely support this idea. Because the importance of]
water in our life is very great. We cannot live \\'ithout]
water. So we must prevent water pollution. And the rivers
being the lifeblood of our economy and Agriculture. We
have no other alternative but to save the dying rivers.

By this the writer wants to put up the fact that though we
have many rivers and have plenty of rainfall, we are
approaching fowards a critical state in respect of water.
Many of our rivers are already dead and many are going
through the process of dying. And water is being polluted

in different ways. ’,{

i
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